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MATHEMATICAL METHODS TRIAL EXAM 1 (2003) SOLUTIONS     Part I
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Q1    Given the x and y intercepts of a straight line, the equation is 
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Q2    Since the graph of a cubic function must pass through the x-axis, it has at least one linear factor. If it has a turning point on the x-axis, it has two linear factors. If it has two turning points, one on each side of the x-axis, it has three linear factors.    B.
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Q4    C passes both the vertical line and horizontal line tests.

Q5    A  has 3 x-intercepts, turning point at (0,0).

         B  has two turning points (a,0) and (–a,0).

         C  has y-intercept (0,–a
[image: image5.wmf]4

).

         E  has y-intercept (0,a
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         D  has y-intercept (0,–a
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Q6    The effect on the graph of 
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 is the same as reflection in the y-axis and then translation of 2 units in the negative x direction. Therefore the equation of the transformed function is
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Q7    The 
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Q8    Domain of  f  is 
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Q9    Amplitude = 2, period = 
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Q11  The graph of  
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  vertically upwards by b units. Since b > a, the amplitude of the function, the graph of  
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Q12      A  is a constant. B is a linear function. C is a power function. D is a constant. E is an exponential function with base 
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The chain rule,  
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Q15  Let 
[image: image37.wmf](

)

x

f

y

=

 be the equation of the given function. The equation of the inverse function is therefore 
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Q19  Graphics calculator,    D.

Q20  
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Q21  Since the curve 
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Q23  A  is an outcome. B  is an event of a single roll. D  is a probability. E  is an event of the experiment. C  is a random variable of the experiment.

Q24  X has a binomial distribution. 
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         E.

Q25  Binomial. Success means getting a number less than 5. X = number of successes.
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Q26  Hypergeometric. 
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Q27  Approximately binomial. Because n is large, use normal approximation to calculate probability.

Success means non-defective.  
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      Part II
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Q6b   Equation of g(x)  is 
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Q7    Sampling without replacement. Hypergeometric. 
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Q8    Binomial. 
[image: image118.wmf]200

=

n

, 
[image: image119.wmf]48

.

0

=

p

.

        
[image: image120.wmf](

)

(

)

100

Pr

1

100

Pr

£

-

=

>

X

X


                            = 1 – 0.74 =0.26

_1126615114.unknown

_1126633474.unknown

_1126642096.unknown

_1126682150.unknown

_1126684820.unknown

_1126686681.unknown

_1126687219.unknown

_1126688638.unknown

_1126688674.unknown

_1126688811.unknown

_1126687589.unknown

_1126686857.unknown

_1126687027.unknown

_1126686818.unknown

_1126686527.unknown

_1126686599.unknown

_1126686317.unknown

_1126684341.unknown

_1126684512.unknown

_1126684694.unknown

_1126684390.unknown

_1126683258.unknown

_1126684277.unknown

_1126682881.unknown

_1126643482.unknown

_1126643899.unknown

_1126682036.unknown

_1126682101.unknown

_1126681959.unknown

_1126643799.unknown

_1126643841.unknown

_1126643703.unknown

_1126642959.unknown

_1126643275.unknown

_1126643384.unknown

_1126643181.unknown

_1126642646.unknown

_1126642673.unknown

_1126642223.unknown

_1126634867.unknown

_1126641302.unknown

_1126641456.unknown

_1126641483.unknown

_1126641400.unknown

_1126641226.unknown

_1126641251.unknown

_1126634970.unknown

_1126634331.unknown

_1126634715.unknown

_1126634773.unknown

_1126634585.unknown

_1126634141.unknown

_1126634297.unknown

_1126633520.unknown

_1126629708.unknown

_1126632385.unknown

_1126633091.unknown

_1126633165.unknown

_1126633447.unknown

_1126633135.unknown

_1126633039.unknown

_1126633061.unknown

_1126632418.unknown

_1126631713.unknown

_1126632082.unknown

_1126632169.unknown

_1126631791.unknown

_1126631005.unknown

_1126631657.unknown

_1126630757.unknown

_1126628948.unknown

_1126629428.unknown

_1126629572.unknown

_1126629615.unknown

_1126629481.unknown

_1126629114.unknown

_1126629308.unknown

_1126629057.unknown

_1126615848.unknown

_1126615974.unknown

_1126628869.unknown

_1126615925.unknown

_1126615703.unknown

_1126615799.unknown

_1126615598.unknown

_1126613190.unknown

_1126614472.unknown

_1126614813.unknown

_1126614923.unknown

_1126614971.unknown

_1126614890.unknown

_1126614618.unknown

_1126614680.unknown

_1126614562.unknown

_1126613675.unknown

_1126613941.unknown

_1126614047.unknown

_1126613791.unknown

_1126613376.unknown

_1126613538.unknown

_1126613262.unknown

_1126611118.unknown

_1126612208.unknown

_1126612769.unknown

_1126612940.unknown

_1126612308.unknown

_1126611281.unknown

_1126611961.unknown

_1126611180.unknown

_1126610272.unknown

_1126611033.unknown

_1126611090.unknown

_1126610937.unknown

_1126610231.unknown

_1126610257.unknown

_1126609736.unknown

